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(4) y=cos2zx+tanx;
B)y=(z+2)°%;

44




(6)y=3".
3. TR 51 eR B I AR
(1) /1.001;
(2)Inl. 02;
(3)tan0. 01;
(4)e™%,
4. BH—IEFEBBREK 2=5 K, AR BB IG I 0. 01 2K, SR I 4 B4R o 1 5
fLLEL.

& HDPBS

L. SR H R B T8
(1) y=2"+2"+1In2;
(2) y=c* sin3z;
(Dy=a"";

x+1

x—1°

(4)y=

(5) y=sinx+tarccosx;
(6) y=Inx+Inlnx+Inlnlnz.
2. SRR A 5 R TR E I B R vy = v (o) 1 R

(I)Ze"'*Zcosyflzo,j{%

H

x=0
S

‘ s . dy
w23 Ay )
(2)e x’—y O’j{dx‘ﬁo’

(3) ysinxr—cos(x—y) =O,ﬂ?%;

(Dy= ety 3ot FGoi &k,
3. SR T IS A AL

x=Int,
(1)J g 4y
dr

d*y
=1 da?

H
=1

y=t,

r=secl, 2
<2>{1 gy Ly

y=tand. Pdrtda?’

g 4y

jx:t*arctant,
(3) ‘ 3] .
y=In(1+, ~ dx
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SR T B M 4 R I U) RR  R

(Dy=e",x=0;
(D xy+lny=1,5,1D;

T =2C0St, x
(3) Zzg.
y= /3sint,

- SR TR B T R T A E 4 AR A E AR B DD

(Dt xy+y"=7,53,—2);

x=¢c*cos0,
(2){ =",
y

=e¥sing,

SR BI R B dy.

(Dy= /x—2*;

(2)y=1—cos2z,JFK dy|,_ . 3

e
(3)y=e“sinbx(a,b EED;

(4)y::b1£.

’
X

(5 y={Un)".

R EE R € i (7 /N W A R R W

(1) /1.001;
(2)60.003 ;

(3)Inl. 008;
(4)sin0. 02.

. RAIREC B fGo TR

(D% y=fH+[f) ] ,ﬂ?%;

(& y:xf(1*2x),5kg%;

(3 y=f(sinx)+sinf(1),ﬂ?§%.

<SRBI pR B S L

(1)_’)):15 7;]‘2 y(5> ’y(ﬁ) ;
() y=2" 75"‘2 y//»y(") H
(3)y=(1-+z"arctanz, 3K y';

WD y=In(z+ /1+22) .3k .
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